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INSTRUCTIONS

Read the following instructions carefully before
answering the Questions—

1.  There are 100 questions in this Booklet and all are
compulsory.

2. Answers are to be given on a separate answer sheet
(OMR).

3. All particulars on answer sheet (OMR) have to be
filled with Blue/ Black ball point pen only.

4.  Write your 11 digits Roll Number on the Question
Booklet and Answer sheet (OMR) as given in your
admission card in the prescribed place given on
the question booklet and answer sheet.

5.  Fill Question Booklet number carefully on OMR
sheet.

6. Darken the circle for the correct alternative on the
answer sheet against corresponding question
numbers as :

® @ ©O

7. If more than one answer is marked for any question
on OMR sheet answer will not be checked.

8. If you do not know the answer of a question, do
not waste time on it and pass on to the next question.
If time permits try to attempt it.

9. Extra 30 minute time may be given to visually
impaired candidates.

10. Use of calculators, log tables or mobile phones etc.
is strictly prohibited in the examination room.

11. Rough work can be done only on the page given
for it in the Question Booklet.

12. Please return the Answer sheet (OMR) to the
invigilator. You are allowed to carry Question
Booklet and the carbon copy of answer sheet

Please turn over the page and start your work.
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oot (1-10) : Frfefas we=i # quruTas
o= (:0) & g 3T o o vIsgi/ 3T/ 3iahi
TaY ArEiaEl § P T Tl 9 e
faga (::) & Tifgm T & Q@
yTeET /31811 /3ienl & raptaat B o &, s
| Tk v o | o gy ferhedl H R W U
FATE ThifeTT |

1.  64:100:16:?
(A) 25
(B)/36
(C) 50
(D) 55

2, ADBC:EHFG :: ILJK:7?
(AWPNO
(B) RTZV
(C) RTVZ
(D) TVXZ

Directions (1-10) : In the following questions
there is a relationship between the two
words/letters/numbers and figures given to
the left of the proportionality (: :) sign. The

same relationship exists between the words/

letters/numbers/ figures given to the right of
the sign (::), of which one is missing. Find the
missing one from the given alternatives.

1. 64:100::16:7?
(A) 25
(836
(C) 50
(D) 55

2. ADBC:EHFG :: ILJK:?
(WPNO
(B) RTZV
(C) RTVZ
(D) TVXZ

3, Bihu : Assam :: Garba: ?
(A) Bengal
(Bn)/éuj rat
(C) Bihar

(D) Punjab
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4. 85:40::77:7?

(A) 14
/9
(C) 48
(D) 50

5. MRPL:OTRN:: ?:EJID

(A)  CFHB
(B)  GIKF

(@)/ CHGB
(D) CHFB

@ © © o]
© ® © ©
© ®) ] o

4. 85:40::77:7?
(A) 14
(849
(C) 48
(D) 50
5. MRPL: OTRN: ? : EJID
(A) CFHB
(B) GIKF
(G)CHGB
(D) CHFB
6.
b Q (s ) ﬁa ?
B [ é% o—30
M= ]| &
NISIEIE
5/ i N a[9 B gl i
Wwoo® . © o
7.
® |F IS
| S 2 | o
[2] O o)
) o D @]
©@ @ © ©
© Q @] ©
( (B) (C) (D)

w @ © D
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z|o s|v z|d s|v
-] [ |0 |
A& (8) © &

9. BDAC: FHEG :: NPMO: ?
(A) RQTS
(B) QTRS
(C) TRQS

(o)-KTas

10.  F: 316 L:?

(8)1728 (8) 1700
(C) 1600 (D) 1723

frder (11-20)- Frefafaa uoi § 3/
ST/ TRl T Y@ & TE § A TR
farddt @@ T IeRa ¥ S W @i
wagreT fou gu fawent & € @
g /3mregt st T |

11.  ST39,UVA43, WX47,?

(A) Yza7

(C)/Y251

(B) Yz52

(D) YX50

9. BDAC: FHEG:: NPMO: ?
(A) RQTS
(B) QTRS
(C) TRQS
(D) RTQS

10. 4 F: 216 22 L: ?

(A) 1728 () 1700

(C) 1600 (D) 1723

Directions (11-20) : In the following questions
numbers / letters/ figures are arranged
on the basis of some logic. Find out the
logic and select the correct answer and
fill in the missing term/figure from the

given alternatives.
11. ST39,Uv43,WXa47,?
(A) YZ47 (B)YZ52

(C) YZ51 (D)YX50

XMAT 2019




12. aalaaal aaaa_baaaaz b

(A) b,aaa (B) b,b,a,a

(C) bbbb (Qy'b,b,b,a
13.  ABILITY, BILITY, BILIT, ?

(A) BAIT (B) ILLIT

@1LT (D) LITY

14

2] (%) 2] 2

| -9 N
15. 180,179, 171, 144, ?
(A) 70 ®) 72

(0/80

(C) 64

16.

AlD 1A =][e) 5
110 el[= Al d

OIT AlO LA oo
OlA 110 @[N] Alt

wY (8 (€) (D)

12. da__aaa__aaaa__aaaa__b

(A) b,aa,a (B) b,
(C) b,b,b,b (D) b,

13.  ABILITY, BILITY, BILIT, ?
(A) BAILT
(C) T

14

b,a,a

b,b,a

(B) ILLIT
(D) UTY

i

BIEE

15. 180,179, 171, 144, ?
(A) 70 B) 72

(D)

(C) 64 (D) 80 -

AlO TIA 0lo

tio | |ola!| |Af g
o1 AlO LA olo
OlA 110 O|0 AT

(A) (B) (C)
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17.

18.

19.

20.

o 19 27

4 29 y
3,15, 35, ?, 99, 143
(A) 69
By 63

(C) 77
(D) 81

X 78,792, P 106, ?
(AL 120

) K120

() M™M120

(D) L118

oF T L 20 pud

7, 12, 22, 42, 82, ?

(A) 143

(B) 173

€ 162

(D) 183
XWA,VTC,SPF,0KJ,?
(A) JDN

B JEO

) JDP

(» PSU

17.

18,

20.

3,15, 35, 2,99, 143
(A) 69

B) 63

© 77

(D) 81

X 78,T92,P 106, ?
(&) L120

(B) K120

(C) M 120

(D) L118

7, 12, 22, 42, 82, ?

(A) 143

(8) 173

(C) 162

(D) 183
XWA,VTC,SPFOKJ,?
(A) JDN

(8) JEO

() JDP

(D) PSU
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e (21-27)- fr=falas woar o =

21.

p 7

23.

24,

g/ et
ity

(A) AGHB
(B) EUF

/2028

(D) CKLD

(A) G
(B) =l

(C) dran

(D) F& -

(A) TR=RI
() 3T
(C) T

(D) ﬁ:rgl AL 1%

(A) 121
(B) 145
(C) 153

(D) 177

e €| i o A

C 2DrqQ S8BT AT Y i T

r A }

Directions (21-27) fInthe following questions

21.

22.

24,

odd one out.
(A) AGHB
(B)  EUF
(C) zAzB-
(D) CKLD
(A) Gold
(B)  Silver
(C)  Copper

(m/ Carbon”

(A)  Moscow
(BY Paris
(C) Athens

ol Eaymt

(A) 121 f
g x 8

(B) 145

X3
(G.)/ 153 P17,

D) 177 3> A
59

four items/figures are given. Find the
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sss|Bg ooo|§§ asal38 | |22
25. OOlA cmi [ THES **| o)
(A) (8) © ' o
26. (A) 120
(B)~ 257
€ 224
(D) 168
27. (A) @om
B) faar
c |
D) fer

Fror uew (28-32) : e 3 @At e
T W ol I G-

P
;:'"':;':n <«— = /( 9 Grndmu:h
(ufeen w&w) : c\ b b
\Q h Employees
d

ssslgg 000|385 | [anal2] Il |ﬁﬁ
25-100[& | |8a]T 1% | |xx{ O

(A) (B) (@) (D)

26. (A) 120

(B) 257
(€ 224
(D) 168

27. (A) Veena

(B)  Sitar
(G]ﬁ) rum
(D)  Guitar

Directions (28-32) : Study the following

diagram and answer the questions. |

Female <___

Members

(ufgen w==1)

XMAT 2019




28,

29,

30.

e % | *iF 9 T8 wdent § W
SHFETE TE § ?

(A) egh

(B) agh

(© bge

(D) aegh
Fedat@amaafem et arar
FHant § o fm sgamrt g @
Al HEw TE & 7

(A) a, b, d

" 3 6 h

€© agh

(D) a,d, e h

e 6 @ =i | TR st & afgen
WS B & WY STt it §?

(A) ah

(B) b,g

(€©) b,c

(D) b,h

10

28,

29,

30,

Which of the following employees are

not businessmen?

( egh
(B) angh
(©) bge
(D) a,egh

Which of the following persons are
either employees or businessmen but

not female members?

(A) a,b,d
(B) a,eh
(€©) angh

i
© a;d,eh

Who among the following persons are
female members as well as

businessmen?

(A) a, h
(B) b,g
o b
(D) b, h

X MAT 2019



a1.

32,

33,

frer o @ S o U9 e § S A

A TR € 3T T & sheent ?

(A) b, dg

(B) a, d h

6. . d

(D) b, c

fo o | S o U afgen veE €
A SHETEt § A B wdand ?
(A) i,g

(B) b,cig

(C) b, e

D) i

3o 3 femet, aférur fewm it A7 wrerdt

¥ AeveTd 9E gidn 3T ggdt € 3T
2 ot wreell ) S U it 30T gt

% 3itt 3 folt =re & =g &idt 3
TgaRT T ST el & 1276 9 fohd
oo H = W@ &2

(A) Y=

(B) W

() =faro

(D) Uf¥=A

3.

32,

33.

11

Who among the following are
businessmen but are neither post

graduates nor employees?

(A) b,dg |
) ad,h :
@ cd
(D) b,c

Who among the following female
members are neither businessmen

nor employees?
(A) g

() b,ci,g
(€ - hb,ic

|y i

Asha walks 3 km. southward and then
turns right and walks 2 km. She again
turns right and walks 3 km. and turns
towards her left and starts walking
straight. In which direction is she
walking now?

(A)  East
(B) North
(C)  South w‘! . "ﬁ

(Dj/ West

X MAT 2019



34,

35,

36.

foreit e e ¥ afe 'THEN' @1 'RLBS'
ferat e &t 39 & 9T ¥ 'CASE'

i Tyt forar s ?
(A)  PAEP
(B)  AEP)
(C) EPAP
(D)  APEP

T @ g gd e @it iR ¥ =w
100° gfaromad faom & gt §,
AAIATA a5 145° ATHTE (91 § St
& 370 3WehT HE fonw fawm s v &2

(A) ufv=Em

(B) IWYE
€ v
(D) <feror ufyem

i ferdt wichfaer wTd ‘GO’ =i

'FHNP' i ferar Srar & &t Set s
T 'SUN' &t ehl forar s ?

(A)  RTTOMY

(B) 'RTTOVM

(C)  RTTVOM

(D)  RTTVMO

12

34,

35.

36.

If in a certain code language 'THEN' is
written as '‘RLBS', then in that code
language, how will 'CASE' be written
as?

(A) PAEP

(8)/

(C)  EPAP

AEP)

(D)  APEP

Surbhi is facing east. She turns 100°in
the clockwise direction and then 145°
in the anti clockwise direction. Which

direction is she facing now?

(A)  West
(EU/ North East
(Q) East éé

(D)  South West

If in a certain code language 'GO' is
written as 'FHNP' then how will 'SUN'

be written in that language?

(A)  RTTOMY
(8)  RTTOVM
(@) RTTVOM
(R)”” RTTVMO

X MAT 2019



frdr (w, 37-38) Afe f&dt wisfaes wrmeT

37.

38.

39,

-

a) 'pitdarna'hl 3194 ¥ 'you are good'.

b) ‘'dar tok pa' T 31¢f ¥ 'good and
bad'.

c) 'tim na tok' <1 ad ® 'they are
bad'.

3G HTHT H ' they' Y18 R o1 ATedd

®?

(A) na

(B) tok

(C) tim

(D) pit

'bad' ITeE | AT & -
(A) na

(B)  tok

(C) dar

(D) tim

afe frdt 2 wen H, ‘157" I §
'Mother always lovable’, '619' &T a1
¥ 'Always happy future' €T '952' &l
312t ¥ 'Mother very happy'. 36l %
WIS 'future' T e FATE?

(A) 9
(B) 6
@ 1

(D) S H T HIE TR

Directions (Q No. 37-38 ) In a certain code

37.

38.

39.

13

language-

a) 'pitdarna' means'you are gcod'.

b) 'dartok pa' means 'good and
bad'.

c) 'tim Qa:tgig} means 'they are
bad:

In that language which word stands

for 'they'?

(A) na

(B) tok
( I tim
(D)  pit

The word 'bad’, stands for-

(A) na

(BJ/ tok
(C) dar
(D) tim

In a certain code language '157' means
'Mother always lovable', '619' means
'Always happy future' and '952' means
'Mother very happy'. Inthe same code
language, what is the code for the
word 'future'?

(A) 9
(B 6
€) - 1

(D)  None of the above
X MAT 2019



40.

41,

42

gues 3 fAfes & et a% oot @
wedtel | Wl Tar & A fuar @t aet
ARG HEA A A BIETE TF
STeTeh St HEalel Bl 1@l §, S |
fora wer wEfaa g2

(A) 9o

(B) W

(C) == R

(D) s / @A

Tfe SERT Tt Ugelt aTiiE hl JEHaTT
Tt aftraed el v wem feem
I | R ?

(A) HTEER
(B) IHAR
(€ TEER
(D) IHAR

X 3T Y, A e B A fuar & X
HRTY, ARTISTE & | YRTAT T
T g7

(A) SfeR

(B) W%
© T
(D) =&

40. Deepak said to Nitin, " that boy playing

41.

42.

14

with the football is the younger of two
brothers of the daughter of my father's
wife." How is the boy playing football
related to Deepak?

(A) Son
(B)/ Brother
(C) Cousin

(D) Brotherinlaw

If January 1 is a Friday, then what is the
first day of the month of March in a leap

year?

(A)/ Tuesday

(B) Wednesday VRO
,{:\ K

(C) Thursday ox¥ f:q
L7

(D) Friday ® 7

X and Y are children of A. A is the father
of Xbut Y is not the son of A. What is the
relationof YwithA?

(A) Sister

(B) Brother

( Daughter
(D) Son

X MAT 2019



B W @S EH it AT I e
qQ fer 7 @, IE AL ufe i afe
H AT T WS T1 ' S SAEHT o1 AT

43,

A FTHTH §?
(A) =&

() ufd

(C) <

(D) ST

e (W, §.44-48)- afe et gdor = XY
i frofa # w@r T § @ Fefataa s

SrepTeat B | I H SMepi Wo= el T
Bt Afefer g ?

44, Uy I
X
gwr

I AT

o

(B)

<A
b o

R
e

(©)

i
2

(A)

(D)

43. Pointingto a man on the stage, Rashi said,
"He is the brother of the daughter of the
wife of my husband." How is the manon
the stage related to Rashi?

(A)/Son

(B) Husband
(C) Brotherinlaw

(D) Nephew

Directions (Q. No. 44 to 48)~ If a mirror is
placed at XY position then which of the
answer figure is exactly a mirror image of the
problem figure?

44, Problem figure
g
Y

A=
Bt

(B)

<A =
L5

Answer figure

<A >

ke
o

=i
22

(D)

A=
s G

(€

15

X MAT 2019




45. WR A
X LU~
X
A B
T
I 3T
» > X X
A B vV B A B vV B
X X RSV AR,
(A) (B) (C) (D)
46, g ATHiA
X
@
£l .8
Y
I i
S +| |®@ +| |+ o [+ @
D.' Dé S|:| ;D
(A) (B) (©) (D)
47. WY ST *
2 4 6
3 9
7
I AT Y
aps| [642] [apS Y
9 €| |5 3| k@ €| (& E
7 7 Y 3 Mg

(A)

(B).

(C)

45. Problem figure
X LU~

16

X
A B
_
Answer figure
> » X X
A B vV B AB| |VB
X X Sl 2Bl Esilliiorg
w & @ o
46. Problem figure
X
® +
O s
Y
Answer figure
S +| |® +| |+ o [+ o
O . O S g a ]
(A) (B) (C) B}/
47. Problem figure X
2 48
3 S
P
Answer figure ¥
apsS| [642] [abS Y
ek Sy 3 ¢. & A
7 7 Y 4 lefhn
(A) ® - © (D

X MAT 2019



a8, Tt smepfe wr wor wftfenat &mm-
Y ST

o] = I_!_J £ 4/&
N I

(A) (C) (D)

49,
Tt e O & foru simfTe
et & W e I
2*%4*3*4*9
W +-=+

afe zgyriare '+ @, yagiarg' + '
W, XUATE x "ol q9T W FeTaTE
' g it FrAefiae WeteRToT s W
FE? '
_3Y3Z 3X3W3

50.

() 2 ®) 3

€ 4 (D) 5

TR R e 3 T weer

48. The water Image of the following figure
will be-

Problem figure

Answer figure

(A)

N

(8) &

L

(D)

49. Choose the correct option so asto balance
the equation when symbol is replaced by
arithmetic symbols? '

2*4*3%4*9 Gk
W o=
W’c\
(TREVERE TR it
© xE--
B S 14 eI =D

50. IfZstandsfor'+', Y standsfor'+', X stands
for 'x' and W stands for '-' then what is

the value of the given equation? '
i, e et =C

-3Y3Z 3X3W3

(B) 3

©y's

(A) 2
(C) 4

17
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S1.

52.

53,

e 'when' T 31¢f 'X' ¥ 'you' T 314
‘£ ¥ 'come' &3S - ' 3T 'will' T

3t '+ A Frofefaa wediesvor @

T JI -

8 when 12 will 16 you 2 come 10="7?
(A) 112 -{B) 45
(€ 94 (D) 96

afg 526 =9 3T 834 = 9T 716 =7

(A) 20

(B) 15

© 9

(B). g

3N 3T TS T FAUTT 3T HT

3FUTE 5:4 ¥ 3 W 3 I Uy

RT3 T AT 11:9 BT TS

i a3y femert 37
(A) 2479
(8) 27 @9
(C} 40 94
(D) 36

51. If 'when' means 'X', 'you' means '+,

94

52.

3.

18

‘come’' means '-' and 'will' means '+' then

‘the value of the given equation will

be- q¢ +§-0

AR
8 when 12 will-16 you 2 come 10=7?
(A)

112 (B) 45

(D) 96

If526=9and 834=9,then716=?

(A) 20

(B) 15

(€ 9

Q12

Present age of Anupam and Raju are in
the ratio of 5:4 respectively. After 3 years
from today the ratio of their ages will
become 11:9 respectively. What is Raju's

present age?

(4;1/24 Years Ot
(B) 27 Years Cn+72 LA
Un+3 L

(C) 40 Years

Usn+277= i S

(D) 36 Years S £ + 33

X MAT 2019



54,

SS.

S6.

gfe 'MONKEY' 9165 & 3T&Tli i
Futarer o A % § T |
At femar a1erT & frent o
TS ?

(A) BT

(B) T

(5 A, AR

(D) =

vﬁwmmmﬁafﬁﬂwﬁ
&= for vget T W HIE W 19 &
fafer it =6 fem o ?

(o) Taar
(8) TR

(€) ISR
(D)  ¥HAR

gfe 27 |rd 1995 /i WHATT AT a1

qEET 1994 I AR ST R A T

ar?
(A) TEar

- (B) HHER

() TEER
(D) 9F¥aR

B yoNr‘ﬂHE

54. How many letters are there in the word

55.

'MONKEY' which remain in the same
position if the letters are arranged in
descending order alphabetically ?

(A) None
(B) One
( Two

(D) Three

If the seventh day of a month is three
days earlier than Friday, then what day

~ will it be on the nineteenth day of that

56.

19

month?

(Wnday

(B) Thursday Tos
(C) Wednesday
(D) * Friday

If 27 March, 1995 was a Monday, then

what day of the week was 1 November, ,\,’1

1994?

X
(A) Sunday a xq?\ ,{’é’

\
(B) Monday o,k% %
q \
(0)/ Tuesday /Z

{m/ Wednesday

XMAT 2019



57.

58,

59.

(A)

e woa § Avs I gE 180° 79
HTH & I @ wwa § e o ol
foran sior T Tt ?

(A)
(8) 6

18°
€ 10
o 3

gfe ferlt ol 25 3T @t geeataa
¥ 9 WTE H WEER et gt ?
(Ay el v e
(B) 4
s
D) 6

& E o Y A WA Rt 6 ¥
e S o T8 99 HE SN 3
g S faue wE g7

3625632627646586764268

(B)
(€)

w & N

(D) 1

57.

58.

59.

20

How many degrees does the minute hand
cover in the same time in which the
second hand covers 180°?

(A) 18°
|) &
© 10°
(D) 3°

If in a given year, the 25" August falls on
Thursday then the number of Mondays
in that month will be?

(A) 3
(B) 4

&

D) 6

In the given number series, how many
6 are there which are preceded by odd
number and followed by even number.

3625&32627645586754268

(A) 2

(BV(4

<y 3
(D) 1
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feyr(md. 60a 151) Frefafea gaer &
Feaae SgdE ity 3 faw e g
T ST G-
E6GBDMA4NKHZACZSV3F1JLOQSPR
60, afg &t TE gi@e | ¥ gEL AT/ 3R
2 fan e & (FET ht uieha EW 3R
A §U) A I W1 AW/ 30 @
AT 3T T EE 3ieh/ET o A A G
3ich/AGTEM?
(A) V
@ Q

(8) |
D) A

61. dfe Haet MW L ek o i/ 3l
ﬂaﬁmﬁmm%aﬁr 3=
3787/ 3Rl ST RH TE AT ST €
At S AT 2787 ST 3T & Sifew B
178 ST T AT SAT W A 3HEW
Twm?
(A) A
()

(B) C
(D) S

Ty yIre T | et uieg W
Bt ¥ et A o owen ¥ et
e ¥ AR winer ¥ ot §, @
Y - =
(A) T B

(B) HHE H BRI

(C)  Ton | T

(0) e B

62,

62.

Directions (Q. No. 60 to 61) Study the
following arrangement carefully and answer
the questions given below -

E6GBDMANKHZACZSY3F1JLOQSPR

60. If in the given series every alternate
letter/ number is dropped (dropping
starts from E) then which letter/number
will be the second to the left of the tenth
letter/ number from the left end?

(W)/V (B) J

€ Q (D) A

61. If the letters / digits only from M to Lare

written in reverse order and other letters
/ numbers are kept unaltered, then which
letter will be third to the right of the 17
letter / number from the right end?

(R) - ® ¢
(&2 (D) S

c) > 4> Rem > R iK
If Shaloo is taller than Rakhi but shorter
. than Prerna. Rakhi is as tall as M‘eghna
but taller than Komal , then Meghna is-

(A) Shorter than Rakhi
(B) Shorter than Komal

(C) Taller thanPrerna
(Q}/S:orter than Shaloo

21
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ﬁr&‘sr : el ST 8 Gerradl aht Ug 3T v 63

63.

64.

63,

W 65 T oh I Gifeu-
A,B,C,D,E,F 3R G %= &I 3R §g &L

gATRR e # 843 §

F 1 T G % <Rt 3R g80 B

B, F T USIHT & T E &1 a1 |

E, G & Tt oI <8 wm wda ¥ g,
C 1 TSI ¥ |

D, E 3T A Heg a1 B

G & Tt AT AT HAE?
(A) D

(B) E

Osic

(D) BTl T S HHAl

G WA T A ASTE?
(A

B) C

() B

(D) TFH A FE T

F o USIE S-S 52

(A) E3RC (B) F3i B
(C) A3WB (D) C R B

22

Directions: Read the following information

carefully and answer the questions (63-65)

given below-

63.

64.

A, B,C, D, E, Fand G are sitting in a circle
facing towards the centre.

Fis 2™ to the right of G.

ii) Bisneighbour of F but not of E.

iii) E is 4™ to the right of G and E is the

neighbour of C.

iv) Dis sitting between E and A.

Who is fourth to the left of G?
(A) D
(B) E :

@/c

(D) Cannotbedetermined

Who is sitting to the left of G?
o7 a
(B) C
(C) B

- (D) None of these

65.

Who are the neighbours of F?

(A) EandC (B) FandB
(C) AandB (B} CandB
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66. UiTFpaEI SIUH W USTEIE,AD
FWUSTEIC,BHATEIABS
FUTE| D, Coh S 1 i |t ferar

U gaw o §7?
(A) A
€ ¢

(B) B
(D) D

39T : (0. €. 67-74) W@/ Al &

66. Five books are lyingin a pile. Eis lyingon
A. C is lying under B. A is lying above B.
D is lying under C. Which book is lying at
the bottom of the pile?
(A) A

{C) €

(B) B

@ D

Directions: (Q. 67 to 74 )Study the pattern of

numbers/figures in the matrix and find

_out the missing figure/number which will
replace the question mark (?).

67. '3 [ 94 [ 21 | 28
3 | 21|28 |35
4 Jiogiteas 19
(A) 35
(E)/42
© 23
(D) 28
(
68, 4 1 2 ‘1'17"7
¢
131116 |
© oxH
153 | 120 :
w2
(B) 45
i
€. %6
(D) 48

T Wl i SATgEeE o8 3T
A ok wyAaree ( ?) e s =
T I H WA/ I Bt ?
67. 2 [ 14| 21 |28
3 -2t 128 | 35
4 28 | 35 ?
(A) 35
(B) 42
(). 2
(D) 28
68, 4|42
o Ly
Je3Fa0=] 27
(A) 32
(B) 45
© 16
(D) 48

23
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1 e 5
69. 3| 15 6|18 |5 2| 8 |5
25 3 : -
(A) 8 3
(@) (D) 2
.5 |45 8 |22
20 S ;
4025 16]48
(A) (B) 6
¢ 12 (D) 9
2% - 1 v 55
noa@s 5@ <O
4 3 3
(A) 64 (B) 39
'(c1- 24 (D) 26
72, WEF 3G
P | A |
] b
m ) ? n
Q .
¢ /| @m0
'6 (@)
Eaugienn

(A)

(B)

©

(D)

8 14 5
9. 3l15|s 6l18|5 2|8 |5
9 3 6
(A) 9 (B 3
© 6 @y 2
5 |45 8 |22
70. —=l' 5 ?
4025 16 | 48 -
(A) 5 (B'/ 6
€ 12 (D) 9
2 1 <o
noa@s s@r Q)
AR PR 3
(A) 64 (B) 39
o 24 (D) 26
72. Problem ﬁgure
’ 7
b s Tl
| ®
) 7 n
? @
: -/ jo——s
‘ Q
Answer figure y
(A) (B) (©) oy

24
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73. WA ISl 73. Problem figure

T T

—|= e
L] L] bl
I AT Answer figure

bl LR T T TV DM T
") (8) © © tA/ ® © ©

74, mweqf%r 74. Problem figure

NEZ
Z

X
A4
£ I |7
LNEAA

IO TG Answer figure

oS &g g&

(€ (D)
X MAT 2019

%
/4
p
V4
5 |4

(A) (B) (€) (D) (A)




e (w. /. 75 9 79) S T G T 7T

75,

76,

FT WAl o T ST
B 3R £ R faam ik g # 7=
Tl

A 3R B FrgeR fagm @ik ifaet # s
T

A, D 3R ¢ vifgert iR sfoem 8§ o=
Tl

c 3R A et ik wfm # o=
®

D 3R E 3fer iR g § = B

itferent, sfeera it g & &i= er=a
L1
(A)
(B)
(€)
(D) E

o @ P

@ viferenr, sfeem i nfora o et
¥ o e fr o aresT A §?

(A)
(8)
(©
(D)

D QOm >

26

Directions (Q. No 75 to 79) : Study the

75

76.

following information carefully and
answer the given questions.

i) B and E are good in Dramatics and
Computer Science.

ii) Aand B are good in Computer Science
and Physics.

A, D and C are good in Physics and
History.

C and A are good in Physics and
Mathematics.

D and E are good in History and

Dramatics.

. Who is good in Physics, History and

Dramatics?
(A) A
(B) B

Q0

(D) E

Who is good in Physics, History and
Mathematics but not in Computer
Science?

(A) A
(B) B

(g/ C

(D) D
X MAT 2019



77.

78.

79,

F et famm, gfoem s g
T =T E?

A A

B) B

) ¢

(D) E

@ gfeera, sifaent, Feget fagm
iR TifvTa o s ¥ ?

A) A

B) B

(€). 5ig

D) D

i Wiferent, AT, 3R et famm
o e E?

(A) A

B) B

€ b

(D) E

77.

78.

79.

27

Who is good in Computer Science , History

and Dramatics?
(A) A
(B) B

{€) €

e

Who is good in History, Physics, Computer
Science and Mathematics?

(LA
() B
© C
(D) D

-

Who is good in Physics , Dramatics and

Computer Science?
(A) A
@)
() D

(D) E

X MAT 2019



frdor (W, |, 80 | 84 ) WY 3epier fordt v

et A fodt 28 &

80. WY HTHid

(A) (B) (€ (D)

Directions (Q. No.80 - 84 ) Find the answer
figure in which the problem figure is

hidden.
80. Problem figure

Answer figure

N 7] L2

B,
(A)/ (B) (€

81. Problem figure

-

Answer figure

(D)

(A) (B) (€

28

of
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82. WY IMHA

I AT

(A) (B) (©) (D)
83. WY TRl
I TG

W =

(A) (B) (€ (D)
84. WA THIA

D /\

T

(A) (B) (C) (D)

82. Problem figure

Answer figure

(A) (8) ey

83. Problem figure

Answer figure

(D)

M| =

A) (8) @ (D)

84. Problem figure

D A\
Answer figure

D> | D) (L

+

o ® ©

29

(D)
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v : (w. |, 85-86) et 3w angferat o
|30 e g s = femm @ s
W e, U & AR Eied & 91 e
o)

85,

o)
Q000

(A) (B) (C) (D)

86. WY ATHI

AV

(€)

(D)

Directions (Q. No. 85-86) Choose the figure
from the given answer figures which will be
formed by folding, punching and opening the

page.

85.
R\rk D
3 O
8 O O 88
@]
o 8 o)
A ) ©  ®
86. Problem figure
Pl ,}-5;* D f,/f’
pat :
Answer figure
I>p q Na B@ 5@
N Q&J N Vo
(A) (B) (Q/ (D)

30
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fdwr : (W ®. 87-88) fou @y H

eyt yreg & 3rgl I eHaARad w9 |
foran AT ¥\ U 39 Ve il SaRdd
T fau o fammeul § | 36 g W T E
W eaftad femy T vreg & wHIE 3 arer
T
87. ETGNDLII

(A)  INTELLIGENT

()  DIFFICULT

(C)  LABORIOUS

(D)  QUICK
88. TRPETY

(A)  CHARMING

(B)  FRAIL

(C)  SINCERE

(D)  AUDACIOUS

Directions (Q. No. 87-88) In the given
question, jumbled letters of a meaningful
word are given. You have to arrange these
letters and select the word from the given
alternatives which is almost similar in meaning

to the rearranged word.

(82 ETGNDLII DITGENT

0 ol
(A)  INTELLIGENT

ERTE
(8)  DIFFICULT OTL LHE VT
(€~ LABORIOUS

(0})‘—/ QUICK

88. TRPETY

(Ao/ CHARMING
(B)
(C)
(D)

FRAIL

SINCERE

AUDACIOUS

31
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89.

90.

fog & o & weh wwT SRR & A

i e Jagd |

(A) 18

(B) 27

) 20

(D) 30
frerifera forst ® foewemt Brage ot =t
¥

(A) 28 Tysr , 3 &
(B) 24 Ty, 5
€ 28 fryw, s =i
(D) 24 Ty, 3 o

89. Count the number of similar sized cubes

90.

32

in the given figure.
/'1
(A) 18 ?’\
(8) 27 ’V
.1
(C) 20
( 30

Count the number of tr
squares in the given figure.

iangles and

(A) 28triangles, 3 Squares
(B) 24 triangles, 5 Squares

(C/ZS triangles, 5 Squares
(D) 24triangles, 3 Squares

X MAT 2019



.

92.

fFreferfias wow & uie vreg fRw o

Tfe & YIsIHIIT o STHN JUTHTET
wH H e fohU STd & o &t |1
ITeg Wed W BT ?

Hobby, Holiday, Hoarse, Hollow, Hobble
(A)  Hoarse

(B) Hobble

(C)  Hobby

(D)  Holiday

Frer faw T wreet Y SIS g
@ w0 § syaReq FRT TF W@
faerea =t =ra= it |

1. Select

2. Seldom

3. Send

4. " Selfish

5. Seller

(A) 1,2,4,5,3
(B). '2,1,554,3
(€ 2,1,4,53

(D) 2,:5,.4,4453

91.

92.

33

In the following question, five words are
given. Which of them will come in the
middle, if all of them are arranged
alphabetically as in a dictionary?

Hobby, Holiday, Hoarse, Hollow, Hobble
(A)  Hoarse

(8) X Hobble
()~ Hobby

(D) Holiday -

In the following question, arrange the
given words in the sequence in which
they occur in English dictionary and then
choose the correct option.

1 Select
2 Seldom
3. Send

4 Selfish
5 Seller

T 0 A
B 21,593

(9/21453

) 2,5, 44;3

X MAT 2019



93, feumdarai® STﬁ'Tﬁ‘ VIeg T4 31T 93. Make a meaningful word from the given
St fi=1 & 30 FTa it letters and find the Odd one out.
(A)  UPIM (A)  uPIM
(B)  WKLA (B) WKLA ALf
(C)  EELSP (q/ EELSP SrEF ¢
R D UNR
(D) UN (D) Pt
94, 45 BTAT hl hHell | Ueh BT il AT 94. Inaclass of 45 students, a boy is ranked
20 & &1 S S Y B HAT H WA9T 20". When two new boys joined in, his
A &l 3W BT hi AU ek 31 rank was dropped by one. What is the
AT &1 9 BT i 30 © &4t Uit new rank of the boy from the bottom
T E ? end?
(A) 254 (A)  25%
(B) 267 (Ba/ 26"
(€ 277 (€ 27¢
(D) 287 (D) 28
95. fe&rma =i o fope Brwr &7 95. How many triangles are there in the given
square?
/\ X
AR
N \/
(&) 18 W/ 18
(B) 16 | (B) 16
-2 @ 12
D) 14 (D) 14

34 X MAT 2019



96.

97.

& 7S arresta o feRras wHETE SqES
&

A D
C E G

(A) 4
B) 5
{€)... 6
(D) 8
TET o e A O e fRaferat geniE
% ¥\ afg urd &t e J6g 2
3ifera & A7 hIF T 3k Hu Tag W
m?

Bl
(A) 1
B) 3
c 4
(D) 5

96. How many parallelograms are therein
the following figure?
L s
A D F
(A) 4
(8Y " 5
@6
(D) 8
97. Two positions of the same dice have

35

been shown. If number 2 is marked
on the bottom of the dice, which
number will be on the top?

G Gl

o

1
(B) 3
(c 4
D) -~ 8§

X MAT 2019



98.

99.

i e Refrar e S waE
3% faafa s AT i 82

<3S s>
ugitojng
(A 1

B) 6
@ %
D) 4—

i o Rt e ST ¥ 3en
D &% faudia weteh UT S 4T 31e

0004}

100.

(A)

B) B

i) e A

(By! B¢

A, BRI SIfg & ifeR+ B, A At aifet T&l
¥ AR B T W 2

(A)  wfeT iR g

(B) TS 3R WE

(€) =fed st sfem

(D) S H d FIE Tal |

98.

99.

Three positions of a dice are given
below. Which number is opposite to
face 3?

) @ &

(B;/s

@ 5
® 4

Four positions of dice are given below.
Which letter will be opposite to D?

B> LEX o>y <o
(A) D

100.

36

® B
o A
(B) c

Ais the sister of B but B is not the sister
of A. What is the relation between
A and B?

(M/ Sister and Brother
(B) Brother and Brother
(C) Sister and Sister

(D) _None of the above
X MAT 2019
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#1
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1
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HHY

T wiaur @ uiem - 2019

heT- X

AREEBNEEE

o Qi welr 19929

g™ wos U/ SECOND QUESTION PAPER

Yiferen sifrefar adregor

: 120 fie quiiss : 100
frdwr

Ul @& I 3T ¥ ugel FrAfaraa fewn @
&9 ¥ ufeu -

Time : 120 Minutes

Scholastic Aptitude Test
Max Marks : 100
INSTRUCTIONS

Read the following instructions carefully before
answering the Questions—
There are 100 questions in this Booklet and all are

|, 3@ 9E 9 H 100 9 € 9ft wed siferd € compulsory. :

2. I TF e SR TTF ( ATAAR) | # 2. g;{th;rs are to be given on a separate answer sheet

% w A g{ g‘rﬁ o it & At i 3. All particulars have to be filled in answer sheet

Tz l “EI_ ; el 5 (OMR) with Blue/ Black ball point pen only.

4, ovgefl TG 11 ST 1 STTHAE W FH WA | 4 write your 11 digits Roll Number on the Question

w1 ¥ 3ffRd €, % W iRl 3R I T Booklet and Answer sheet (OMR) as given in your
g b &
(AR )W Fae Fuifd =F w & 5@ admission Card. :

5. WA ik 1 HES ALUA.IR W gEurt § | 5. Fill Question Booklet number carefully on OMR

+frg FfTT ~ sheet.
kS I 2 G \ 6. Darken the circle for the correct alternative on the

6. wq‘é’f” J 5 TTQT:T:[WII éﬁll e 3 answer sheet against corresponding question
L53 e dIcil Sl %, number as shown below :

@ . © @ 7. If more than one answer is marked for any question
on OMR sheet answer will not be checked.

7. i€ 3W w&H (311@:3111) wirfism s faw | 5. 1f you do not know the answer of a question, do
wF § faw fawedl w1 wen e g A not waste time on it and pass on to the next question.
I F =T 72 F AT If time permits try to attempt it later.

8. Tfz 3y foFdt WA 1 ST TE A € al S W | 9. Extra 30 minutes time may be given to visually
g §Eig 7 H| TG 99 T W [ 7 R impaired candidates.

9, gftearem srefefaf  foru Fifia w9a & sfafigq | 10. Use of calculators, log tables or mobile phones etc.
30 e &1 il 9 e 21 is strictly prohibited in the examination room.

10. ftam wa o %ﬂwi @ 29e § Aiaee v | |1 Rough work can be done only on the page given
afz & v a:ljriﬁ{ T ¥ for it in the Question Booklet.

W : : < 12. Please return the Answer sheet (OMR) to the

1. Wﬂ Eﬁ A | Eqﬁ b g%g;gg " invigilator. You are allowed to carry Question

k2 b s il I. Booklet and the carbon copy of Answer sheet
Y Eﬁx g on) (S;LFWM il (OMR) with you.

Y
Please turn over the page and start your work.
3T 3T T S I
X SAT 2019 E R LS tl?lﬁ"{ aﬁﬁlq o £






‘Frer@s’ = 9-

(A) wmfes Ed

(8) I U

(C) fed i % Y
(D) #fueni & forg w4

v SaTer 1 T F T -

(A) SeRiferen Y TS 3 & faw

(B) - IR f7ehieid 11 1§ &4 & forg

(C) TS J& AYNTeEl 1 G 3 &
fa

(D) Tefedl w1 T 21 & fa

‘gfen diemn’ fHw Qg WA E T
ot -

(A) wi™
(B) gt
(C) ®H
(D) FTET

R H B @ HA 9-
(A) TS

(8) Ft

(C) WHITR

(D) #fEH

1. 'Kolkhoz' were-
/ff) Collective Farms
(B) War Ships
(C) Confiscated land’

(D) Quartersfor workers

2. The Nuremberg tribunal was set up to-
(A) prosecute the Bolsheviks
AB) prosecute Tsar Nicholas I
(C) prosecute Nazi war criminals

(D) prosecute the Jews.

3. "Dawes Plan" was introduced by-
(A) France
(B) Italy
(C) Russia

L/ro)/ USA.

4. 'Who used to live in 'Ghettos'-
(A) The Nazis
l/(—B'f  TheJews
(C) The Landlords
(D) The Workers
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“sre-wT i Hifa feRen sraerE-
(A) SaTfE A

(B) wHEEal A

€ =TI

(D) A FHSE A

ey = feoolt &1 off f& ‘S Wil
Sterar & A SRt ZAT A WL -
S g1’

(A) fs=men
(B) UIfea
() HeF@
(D) feeew

‘TR wnt @ AR’ @ g A
foman a1-

(a) HfsH

(B) Tsest

(€) PH

(D) foeRx 3aHEE 1

5. Whofollowed the ' Scorched Earth policy'-
(A) Thelapanese
(B) TheFrench
(C) TheDutch

AD) TheKalangs

6. Who once remarked, " When France
sneezes, the rest of Europe catches

cold."

(A) Bismark
ﬁ Napoleon

(@)} Mettern_ich

(D) Hitler

7. Who led the famous 'Expedition of the

Thousand' -
ﬂA) Mazzini

(B) Garibaldi

(C) Cavour

(D) Victor Emmanuelll

X SAT 2019




10.

mﬁmwﬁmﬁw
ey i -
(A) AR T T
(8) WY THA
() Tfo< deay T

(D) SIS YER

G T H gras AT e e
o

(A) ERET TG R
(8) = A IR
(C) s MY HIR
(D) T M i

WA geu foa fod wer s -
(A) =g T

(B) F.TH.3. TI FHEE

(C) SRTATE. TE fawa d
(0) TFYTAS. T LAEH

8. Who was instrumental in setting up of

‘Awadh Kisan Sabha'-
g/() Jawahar Lal Nehru

(B) Deen Bandhu Andréws

(C) Govind Ballabh Pant

(D) Rajendra Prasad

9. Who painted the famous painting of
Bharat Mata -

(A) Dwarka Nath Tagore
JB’)/ Ravindra Nath Tagore
(C) Abanindra Nath Tagore

(D) Raja RaviVerma

10. The Bretton Woods twins are called-
_AA) TheWTOand The UNESCO
(B) TheUNOandThe UNICEFI
(C) ThelIMF and The World Bank

" (D) The WHO and The UNICEF
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1.

12.

W A i TR B | gHferd HifsTe a9

el faweg 9fa-
W A WY B
1) &4 (a) Z ISl 3
M=
1) HTeR]  (b) HfEE
) sl (c) & HRNTel Hiae
V) e f& e (d) < Ffe sifw g
SIS
(1 (1) (1) (V)
(A) d c b a
(B) b a d c
(C) c d a b
(D) d a c b
W A F @ B ¥ fremzd qan wE@l
ooy gfa-
W A WY B
|) SieraRE (a) a9
DEELIER (b) T HITSHA
1) TSR (c) ®9&
V) &l (d) e |
(1) (m) (my  (v)
(A) c b d a
(B) b a d c
(C) c a d b
(D) d c b a

11.

12.

Match the Column A with Column B and

choose the correct option-
Column A ColumnB
I) Rousseau (a) Two Treatises of

Government

ll) Montesquieu4-(b) Marseillaise

1) Locke o c) TheSocial
2 Contract
IV) Rogetde L'lsle d) TheSpiritof the
Laws
m (m  (v)
(A) d c b a
(B) b a d c
() c d a b

Lt/(l})/ d a c b
Match the Column A with Column B and
choose the correct option-

Column A Column B
) ~ Zollverein ;a) Dynasty
1)) | Germania ) Spcret Society
) Carbonari (c) Allegory
IV) Bourbon “ '(d) Customs Union

(1) () (m v

UA’]/ c b d a

(B) b a d c
(€) c a RN
(D) d C b a
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13.

14.

15.

YRd & H&A 9919 AgE & g
FI HET o-

(A) URA T TEI AR

(B) XU

© ufa

(D)  HHHHH

frafafed § & #9939 YgF T
L& URo 1 T HEH R e
(A)  =H

(B)  STIH

€ ¥4

(D) ™

[HRIAF THR -

(A) IRd H

(8) i #

€ foea

(o) oS

13. Who appoints Chief Election

Commissioner of India—
(A) The Chief Justice of India
X(B) The Governor

M(C)/The President

(D) The Prime Minister

14, Which Country is not a permanent

member of the UN Security Council—
\_(), China

(B) Japan

(C) Russia

(D) France

15. Community Government is in—
(A) India
V(Bf Sri Lanka

(C) Britain

(D) Belgium
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16-

17.

WY A9 W B I GAfed # Tl

fawea 9f 3 -
WY A W B
i) GRS TS (a) SfefaEn
i) SgS (b) T

iii) eRaUed A<eE () IUEHTIE
iv) STHH & a9 (d) 9T

e

(A)
(B)
()
(D)

(i) (i) (i) (iv)

C d b !
b a d c
c b a d
d a b c

o fava 9 2018 & fosmar wa 3

Juiihreae | forg 311 ! 20ET-
(A)  shrafeE

(B) ¥wivg

(€ Sfesam

D) &9

16. Match the Column Awith Column B and
choose the correct option-
Column A ColumnB

I) Seven Party Alliance Aa) Bolivia

) Water War ) Kenya

) The Green Belt c) Indonesia

Movement

IV) Noland, No Vote /  (d) Nepal
OB - (v)
(A) c d b a
+ (B) b a d c
(C) c b a d

%\
o
[+1]
o
(@]

17. Which team was defeated in semifinal by

winner of FIFA world cup 2018, France-
V(A( Croatia

(B) England

(C) Belgium

(D) Russia
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18.

19-

T A S T B I GAfed Fifsg 991
o faew 9 -
W A W B

) srTE TR (a) GrIUE
II) Sk el (by T
1) ST §E g @ (c) o
IV) FH TAHHT (d) TR

() () () (V)

(A) d c b a
(B) a b c d
(C) c a d b
(D) b a d c
GIETERCIRECT gﬁaﬁ fagr &

(A) ST & R UsHIfae ek
eI

(B) wifde Tq=M™ B WRI USHIfa®
i &1 9 1

(C) TeZ, TSI wifert 1 i €1

(D) TSRS, TSHITae vifek T Hid
T

18. Match the Column 'A' with Column 'B'

and choose the correct option-

Column A Column B
1) Augusto Pinochet\ -(a) Poland U/
) LechWalesa e (b) Ghana

“ ) Aung San Suu Kyi \:c) Chile

IV) Kwame Nkrumah d) Myanmar p!

(1) ) (m  (v)

(A) d c b a
(B) a b c d
.\/(9)/ C a d b
(D) b a d c

19. One basic principle of democracy is that -

L(AO/People are the source of all political

power.

(B) Religious community is the source of

all political power.
(C) Nationisthe source of political power.

(D) Head of the state is the source of

political power.
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20.

21.

22.

T YHER § GEHE T g 3w

faadia &-

(A) HESHT IEA e

(B) HEALTHS VA Hae §

(C) TS TS SHae 9

(D) TS I =qae

i @ 2018 H S Sive gr fRy

Wyl § ol g Siar T4 -

(A) @I

(8) ¥l

(C) e Bh
(D) TN B

Tl S 1 e e e ¥
(A) SRS

(B) SrEEE

(€ we= il

(D) T RreR

20. In a way, the federal form of government

is in contrast to -

y Parliamentary form of government
(B) Presidential form of government.
(C) Republican form of government.

(D) Unitary form of government.

-21. Neeraj Chopra has won gold medal in

which event of Asian games 2018-
(A) Judo
L/tﬁ)/ Wrestling
(C) Javelin Throw

(D) Shot put

22. The highest point of the Eastern Ghat is-
V(A’)/ Anaimudi
(B) Doddabetta -
(C) Mahendragiri

(D) Guru Shikhar

10
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23.

24.

25.

26.

(A)  FEHIA T
(B) W &Y

(€) W
(D) . HaS I

‘ufyEE IR’ wRa & fRe T § 9l
T B-

(A)  oT9H

(B)  uf¥=m s
(C) SAEve
(D) TSI

ya & for g # g e’ 7€ St
3

(A) THSIH

(B) FTTUS

(€ 3EH

(D) TSR

g T e @ s feua @2 1 foed
9§ ST ST -

(A) HREUSH T2

(B) HIETER e

(€ SHiHUT

(D) &g dC

23. World's largest river island 'Majuli' is
located in-

(A) Brahmputra River
()Bdanga River
(C) YamunaRiver

(D) SatlujRiver

24. 'Asiatic Lion' is found in which state of
India-

(A) Assam
(B) West Bengal
(C) - Uttarakhand

Jﬁj'. Gujrat

25. Which state of India does not have 'Thoom
agriculture' -

(A) Mizoram
(B) Nagaland
(C) Assam

yGujrat

26. The coast between Mumbai and Goa is

known as-
(A) Coromandel coast
t/LB] Malabar Coast

(C) Konkan Coast
(D) Kannad Coast

41) §
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27.

28.

@ | g @ || 1 e e g ad
fawea gfa-
W ey |
a) 93TeRR o4 () ARGl ER
PREEIGICES () SATETH, HRRTH
c) HAA o (n) @i, e
d) TEdT 99 (Iv) =T, TEER
(a) (b) (c) d)
(A) | \ i I
B v [ |
(C) I [ I v
(D) [ I i W
TR | T || ) gRfer wd g HeE
foweg gfa-
@y | W ||
a) HTeE U (1) ufd=dt I
b) =&@A JAH (1) IWEUS
c) SUSG A (1) FAEH

d) W A ferE (iv) Hewe
(@) (k) (c) (d)

(A) I I 1] v
TR v "
(C) v I I [
(D) I I | v

12

27. Match the Column | with Column Il and

choose the correct option-
Column| Column i
a) EvergreenForest (f) Acacia, Palm

b) Deciduous Forest/ () Ebony,
/ Mahogany

c¢) ThornForest / (1) Bamboos, Sal
d) Mountain Forest —tiV) Pine, Deodar

(a) (b) (€ (d)

1.5 \Y m o
(8) v n [ |
;/(;/)/' 1 i | v
Ll [ m v

28. Match the Column | with Column Il and

choose the correct option-
Columnl i

() WestBangal b

Column |
a) Corbett Park
b) SundarbaﬁPark
¢) Bandhavgarh Park (lll) Assam &

d) ManasTiger (IV) Madhya

Reserve Pradesh -
(@)  (b) (c) (d)
(A) I I il v
\',(‘B]/ I | v ]
(C) v ]} ] I
(D) m I [ Y

X SAT 2019
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29.

30.

31.

T | 9 T || 1 GAfer Hd g wel

fashea gfa-

@ | W ||
(ERTH/ &) (afst)
a) @agt (1) e
b) wficn (n) it
c) FEHE (N ED
d) Hrew (Iv) el

(a) (b) (c) (d)
(A) | 1 1 Y
(B) I Db 1l
o/ S T A | I
(€)= W 1 [
YR &1 HAE G99 fra Sumat v 9
fauifea faram T &-
(A) 80° 30' Y&t ¥R
(B) 0°7' gait T9M=R
(C) 23° 30" gat TR
(D) 82° 30" Yaif VMR
T YNIT T 31809 & Hew =erdt §-

(A) 27° -30°N
(8) 20° -23°N
(© 17° -20°s
(O} 44° - 17°§

29. Match the Column | with Column Il and

choose the correct option-

Column Column Il
(Mine/Field) Minerals
a) Khetri () Coal
b) Jharia () Copper
¢) Kudremukh () Mica
d) Koderma (IV) Iron

(a) (b) (c) (d)

‘/Mr’ - | Il ] v
(B) ] | v I
(C) Il IV | I
(D) v i Il I

30. The Indian standard time is determined
by which longitude-

(A) 80°30 East longitude
(B) 0°7'East longitude
(C) 23°30 East longitude

\/(D]/ 82° 30" East longitude

¢ 317 Jetstream flows between the latitudes-

Vs@/ 27° —30° N

(B) 20° —23°N

V(Q)/w -20°S

(D) 14° -17°S

13
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32.

- 33.

35.

= 8§ wet gafea 7= §-
(A) HRIHRH - T FIER
(B) a1 I - IAEUS
(€  Haern - fafera
(0) T, EE- g

= 1§ @ 9 9@ 1 =i a9
&

(A)  H

(B) =it /fEaRR
(c) =

(D)  EEHR

ayfires srderaeen § g1 & ¥4 A

TR foran S & -
(A) &Ll
()  HITSHIY

(C) hid wd T Y
(D) ST H QT |

= ¥ S A g & | gt
%_

(A) WafaEs &
B) fodraw &
(€ e &
(D) . Ul 9l ¥

32. Which of the following is not correctly
matched-

\(}./Karakoram - Jammu Kashmir
(B) Nanda devi- Uttarakhand
(C) Kanchanjunga - Sikkim
(D) Garo, Khasi - Tripura

33. Which one of the following is formal
sector of credit-

Bank
(B) Relatives
(C) Trader
(D) Money lenders

34. Which one is accepted as a money in
modern economy -

JM lCurrency
(8) Demand deposits
(C) Currency and demand deposits
(D) None of the above

35. Making of Sugar from Sugarcane is
associated with-

(A) Primary Sector
‘_/(‘Bi/ Secondary Sector
(C) Tertiary Sector
(D) Allof the above

14
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37.

38.

YR TR G JAGH FHET Yl 1
Hreo ST S 8-

(A) T3 & HiEH ¥ TEd
(B) HHA HeA ¥ TEA
(C) HHA FeA & dR]

(D) ot

=1 8 @ = W forarmemy mafis &=
Q grfea T -

(A)  afTRt

(B) RIS

(€) &1 Td &

(D) WA

form sfufram & siaria Syl faamc
% fuer ¥q Pt =nfaw 9 wnfia
ERRIDIE S

(A) MIAZ.

(8)

(€) R . 8

(D) IR H A i T

" 36. Minimum Support Price is declared by the

Government of India-

‘_)M/ /éefore the sowing season
(B) Before the harvesting of crop
(C) After the harvesting of crop

(D) Any time

37. Which of the following activity is not

related to the primary sector-
(A) Forestry

(B) Animal Husbandry

(C) Mining and Quarrying
K}Ea:rism

38. Under which Act a three tier quasi-Judicial
machinery has been set up for redressal

of consumer disputes-
(A) RTE.
V(B)"/.(EOPRA

(C) RTI

(D) None of the above

15
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39.

W | 9 WY || T e wifee a9
e faseq =1 997 Fifae-

W | W ||

a) Geiifya gEsfe (1) <9 afts
faawor yoredt AN

b) 3T 3= A (1) FeE H g
faedq

¢) IT=YU Al () g 9fER
d) T @ (v) fre =t
e sfufam
(a) (b) (c) (d)

(A) | 1T I \Y
(B) | I i \Y
Q) v I I n
(D) I [ I v
I YA S TR g fordl SR
% SIS HiAd 1 g & ferg fepan
S B-
(A) GeIfaeRt
(B) IR
(C) TH

' (D) e I

16

39. Match Column | with Column Il and

choose the correct option-
Column| Column i
a) Revised Public ’/Ll) Indigent senior
Distribution System  citizen

b) AntyodayaAnna (i) Poorest of the

Yojana Poor

c) Annapurna Yojana_ (lll) Priority house
hold

d) National Food __~(IV)Backward

Security Act Blocks
(a) (b) (c) (d)
* (A) I n I 1\
\,/(Ba/ 1 [ Il IV
T R | I
D) | I W

40. APaymentthatagovernment makestoa
producer to supplement the market price

of a commodity is-
Subsidy

(B) Shares

(C) Donation

(D) None of the above

X SAT 2019



4.

42.

43.

S 5in@ —cosf =0 @
sin' 0+ cos* @ 1 A BN -

& w

(A) 1 (B)

(C) (D)

b | —

afe 4(0-1),B(2,1) R C(03)
A ABC & ¥id  7& A ¥ @€t T
HifeeRT & es eril-

(A) 10
() - 10

£ o5
(D) 3TH & HIE T |

Ffg FHTHTol
(a=b)x* +(b—c)x+(c—a)=0%
A S B @ p+ ¢ B A M-

(A) 6a
(B) —6a
(& Za
(D) —2a

41. Ifsin@ —cos@ =0 , then the value of

42.

43.

17

sin' @+ cos’ @ will be -

\/(A/ B}—
1 ()4

1 1
(C)2 (0]4

If 4(0,~1),B(2,1) and C(03) are
the vertices of A ABC then the length
of median drawn from A will be-

(# 10
8) V10 ;@’
© 45

(D) None of these

If the roots of the equation
(a=b)x*+(b—c)x+(c—a)=0
are equal then the value of p + ¢ will
be-

(A) 6a

B) —6a

uAC)/2a

(D) -2a

X SAT 2019



45.

10 ¥ 300 & o= Ut forart d&d €
5% 4 4 fawfse 60 W 3 I9FA
o -
(A) 71
(8) 73
€ 72
(D) 74

famfed 4pcp & WEQT ¥
o Lc=60° 8T AC:BD F
HA BrTl-

D
60° €

A 3:1
B J3:42

@ 3:1
O ~.3:2

¢ cos(a+ f)=0 & sin(a— )
1 T 9T &

(A) cosp
(B) cos2p
€@ sina
(D)  sin2a

44, How many numbers lie between 10 fo
300 which when divided by 4 leave a
remainder 3-

(A) 7
(B) 73

%72

(D) 74

45. Inthe given figure 4BCD isarhom-

bus in which /¢ = 60° then AC : BD
will be-

46. If cos(a+B)=0 ,then sin(a—pB)

is equal to-
k}/{) cosfB
(B) cos2p
€ sina
(D)  sin2a

18
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47.

49.

T SOERAl 929 § UH 91 @ 7
famg 10 & a1 3TT =ISE 6 ¥ 1 T

w1 e i B-
A 6

B 7

C 8

D) 12

smgfafiafc OP|RS, £0PQ=110"
3 ZORS=130° &, @ ZPQR

Sy

T -
R
p 130°
" 110°
Q

(A)  40°
(B) 50°
(c) 60
(o) 70°

(125)% : (32)% 1 A ERTI-

) s

(B) 10
© 15
(D) 25

\‘v{
ol ’\'E’?jz_'.é
q 9{ ." '

a ‘\gp\\‘}/ \'L

% :' 5 . q ?\—6/?/

47. Inafrequency distribution, tl:é’ﬁ’fid value
of a class is 10 and its width is 6 then the

lower limit of the class will be-

(A) 6

\}m/ 7 N
(c) 8
(D) 12

48. In figure If OP|RS, ZOPQ =110’ and
ZORS =130° then ZPQR is equal
to-

" LAY

(D) 70° 4 & B ?4-
il 4

49. Value of (125)% ; (32)§ will be-

(A) 5
10 S AL, i
(C) 15 & el
(D) 25

19
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51.

52.

smwfa ® afe souB=40" & @
/ACB TR &-

(A) 50°
(B) 40°
(c) 60
(o) 70°

TR x4+ -2 +x+1 B x-1

3 faved F W ATHA B0 -
(A) 2
(B) 1
€ 0
(o) 3

fed @ fax A afz PQOJRS
/MXQ =135° A /MyR=400
/XMY &1 HHE ehl-

PR X By -
SD
M
40°
< - s - »
(A) . 95°
(B) 45°
() 140°
(D) 85°

50. Infigureif /0OAB= 40" then ZACB
is equal to-

51. Polynomial x*4+x' =2x*+x+1 s

divided by x —1, the remainder will be-

.
B) 1
€ ©
(D) 3

52. In the given figure if PQ||RS ;
ZMXQ =135° and /MYR=40° then
value of ZXMY will be-

P X Q
<« —>
¥ A o350 {
i |
40° \“es 1’_
- —
Y S
X w2
(a) 795° Sy e
X(B) 45° s J:(‘}’
o) 1400
D)~ 85°

20
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A -

—

53.

55.

fas § afs QT L PR, ZTOR =40’
a9l /SPR=30",99 x 441 y 1 HMH

(A) x=50°, y=80°
B) ' x=80", y=50
(€}  2=300 y=060

D)  x=60", »=30"

U FAY 1 faE 1:2:3 % AU H @
A1 3R Fol T AR 88T T Al
fommd gifi-

(A) 1., 2 #. 3R 3 .

(B) 17,4 ™. 3R 6 H.

(€) 2., 4 Tt 3R 6 H.

(D) 2., 4 . 3R 9 .

, 1
afg x‘+iz=83 @ X —— & 9
X X

-

(A) 729
(B) 756
() 709

(D) S H H g T

21

53. inthe figureif Q7 1 PR, ZTQR =40’
and /SPR=30°. Then the value of x
and ¥ will be-

Vo

Vﬁﬂ/fx=5w,y=8w

B x=80°, y=50°
€ x=30° y=60°
d)  x=60°, y=30°

54. Thedimensions of a cuboid are in the ratio
of 1:2:3 and its total surface area is 88 m?

then the dimensions will be o 2t

(A) 1m,2m,and3 m - o
(B) 1m, 4m and 6m

2 (baIn L) =5
(C) 2m, 4 m and 6m

B
7&*—“2 -1'7."(\?31 4
2m, 4m and 9m ] i
?L‘h.:f&tﬂ‘iclzp';b
2 (-;':':)“*: e gg;ﬂ

oV g
1

1 -
55. Ifx" +— =83thenthevalueof X' ——
x x

will be- %

- —e Vau
X729
(8) 756
(c) 709

(D) None of these
X SAT 2019



56.

57.

58. .

120 Y. TS e BT AE 84 HH. §
Ife 7% T @A & HeH %l GHdd
T 500 JHY AT ® Al 3W ¥4I 5
yfeent #t. &1 0 8 Y9G L HI AN
2ft-

(A) TUF 1584
(B) ¥UA 7920
(C) 943500
(D) SHEd H ¥ HIE Tl

THAH 4 +4" =10 H x & °F

I..4

©33
(D) 3R H | #1E TEl

I x=qgcos® AR y=bsin€ @
(6°x? +a’y?) S HE B -

(A) x*+y’

(B) &’ +b

©) &'’

(D) ab

22

o
RN
X

¥

56. The diameter of 120 cm. long roller is
84 cm. If it takes 500 revolutions to level

a playground, find the cost of levelling it ’ii‘i
A
at the rate of Rs. 5 per square metre- b
(A) Rs. 1584 D A
& oy
(B) Rs.7920 Q%7"’“ P
(C) . 3500 Ry uh”
T
) None of these 2% %7 o
8@ Q‘f% e ﬂ’ﬁ
< i % v\“'-{
Q’{‘-{E‘_ . J\ \‘u\’
X P A
Aq.)j“{ ':"//
57. In equation”4"* + 4" =10, the value of
x will be-
/ 1ol
2 2
(®) . ol
s 2
(€ L
2" 4

(D) None of these

58. If x=gcos@® and y=bsinfthen the
value of (b*x* +a*y*) will be-
(&) x*+y '
- B) & +p
€ &’

(D) ab

X SAT 2019

-~

W



s9. fafafed smgfd # v =qde &
i 71 fed ™ fom &1 g &%

BhT-
)l{i:i)
266 -©
';\9 éf’
j/;_..-—
T ;
\5]// (A)  4~Bem’
(B)  24+3cm’
(€  36cm’
D) 83cm’

60. w=ra ygfa & TFi & foe frfafea
¥ | FH 9 F97 T &~

(A) 2 HIfeHeRT =dgedsH + 2 HIEA
(B)  Wgeieh = HIEH -HIfedeh

(C) 3 Hifedsh = Sgelsh + 2 HIEA
(D) Ul | H HIE I

59. Inthe following figure each quadrilateral
is a square. The value of surface area of
following figure will be-

Qﬁr
(A)  4/3cm?
4 /PB') 243cm’
(€)  36cm’
(D)  83em’

60. Which of the following statement is true

for the values of central tendency-
(A) 2 median = mode + 2 mean
(B) mode =mean - median

JC]/ 3 median = mode + 2 mean

(D)  none of the above

23
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61.

" 62.

63.

W A %1 WY B ¥ faemm ifeg o

el fawew gf -
Y A W B
a) A AW () Na,SO,.10H,0
b) o™ U (1) KNO,
¢) T%e g () Mgso,
d) e (IV) ZnSO,

! (a) (b) (c) (d)
(A) 1T | \Y [
(B) I n v I
() \Y 1l [ |
(D) | I i WY
2t t wta H Sufeda hicwan wehe
1 Wi Bl &

(A) &RE
(B)  SuHYHi
(C) T
(D) SR
W A w1 W B ¥ faem whifsie -
T A W B
a) SR 3 (1) TR
b) Afew s () st TR
c) SR 3 () |
d) ¥af e (v) 99
(a) (b) (c) (d)
(A) | I 1] v
(B) 1 | v 1l
() I I | \Y;
(D) v 1] I |

61. Match Column A with Column B and
Choose the correct option-
ColumnB

a) Epsom salt () NaSO,10H,0
b) Glauber'sSalt (ll) KNO, (&)
¢) White Vitriol  (lll) MgSO,
d) Nitre (IV) ZnSO, (c.')
(a) (b) (c) (d)

Column A

62. The nature of calcium phosphate present
in tooth enamel is-
(A) Basic
_-AB) Amphoteric
(€) Acidic
(D) Neutral

63. Match Column A with Column B-

Column A ColumnB
a) Butyric Acid () Tomatoes
b) MalicAcid -\~ (ll) Rancid Butter
c) OxalicAcid () Apple
d) StearicAcid IV) Fats
a) (b) (c) (d)
’\/?(A)’/'/ | i 1l IV
(B) i I Y I
*(C) I n I v
(D) \Y " I I
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64. Taerga & 550 UM ® I &aw &

110 T Sufega § @ faeraa &t ar=a
B -

(A) 50 % (50 gfeerd)

(B) 40 % (40 wfaerd)

(C) 20 % (20 yfavr)

(D) 10 % (10 wfawrd)

65. 56 cc CO (hre- HIFl FARES) I

MM STP T &I~
(A) 287M |
(8) 0.04 7™M

(€) 0.07 7™

(D)  0.05 7™

66.  TIIGISH % oI G ( H! Wifeaw, H?

sgEIfEn wE W grfeam ) €3 v
i -

(A) GHEITE

(B) HHUI®H

() THEIeh T GHHI®

(D) T & HE T

64. If 110 g of a salt is present in 550 g of
solution then the concentration of
solution will be-

(A) 50% (50 Percent)
‘e q
(B) 40% (40 Percent)
J,?f ~ 20% (20 Percent)

(D) 10% (10 Percent)

65. Mass of 56 cc of CO (Carbon mono oxide)
at STP will be-

J(m“ 28¢g
(8) 0.04g
() 0.07g

(D) 0.05g

66. Hydrogen contains three types of atoms
(,H! Protium, H? deuterium and H*

tritium) these atoms are-

L/[,e\‘)h/ls’t;topia;
(B)
(C)

(D) none of the above

Isobaric

Isotopic & Isobaric
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67.

68.

69.

Aferm (He) & 9.033 x 10* YHIY

foraa et & SR §-
I(A) 191
(8) 5H™
(€ 10¥@
(D) 15 A

g TE GTEAl IUPAC TS % SITER

forg yaR &1 AfTs B
H H H
e
H e faent = £
| B
H -
(A) A
(B) UEHIA
(C) el
(D) TUcERRES
qfa @ A, B, C, D a9 E st waam)

FHE 2, 3, 7,10 3R 18 ¥, SA1ed QRoft
T HH P Y 9 GHA 3Ed J shl-

(A) AB,C
() B,CD
(C) AD,E
(D) B,D,E

67. Number of moles present in 9.033 X 10*

atoms of Helium are-

(A) 1 mole o
\nw

80 XD

Py , 3

7 »

(C) 10mole ' % ;ii"‘

'Mmole

/68. According to IUPAC system which type

(B) 5 mole

of compound is shown by the given

structure-
H H H
e
H - € - CR=it
|
H N H
(A) Ketone W g -cH=cH,
(B8) Alkene
UIEI Alkyne

(D) Aldehyde

69. Five elementsA, B, C, D and E have atomic
numbers 2, 3, 7, 10 and 18 respectively.
The elements which belong to the same
period of the periodic table are-

(A) ABC
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70.

71.

72.

=7 | weEdled = w1 e

-

(A) 5

(B) 12

o R

(D) 16

g4 ¥ 9 1 guEh 69 fafy gro
F &

(A) Toreeer gm

(B) &S gNI

(C)  SATh=IHI G

(D)  ETSA BRI

Aifirehi 1 HIF T T TG4 FALTE B
%9 # Td 3-

(A) CH,COOH, CH,CH,OH, CH,, CHCI,

(B) CH,CH,OH, CHCI,, CH,, CH,COOH

(C) CH,, CH, CH,OH, CHCI,, CH,COOH

(D) CH,,CHCI,, CH,CH,OH, CH,COOH

27

70. The number of covalent bonds presentin
pentane are-
s bR e

I ff .t g gjr cj 74

®) 12 ol s

€ 17

i

71. Which method is used to separate cream

from milk-
(A) Crystallization
(B) Distillation

J(}/é-r"ttrifugation

(D) Vapourisation

72. Which group of compounds shows correct

increasing order of boiling points-
(A) CH,COOH, CH,CH,OH, CH,, CHCI,
~(B) CH,CH,0OH, CHCl,, CH,, CH,COOH

(C) CH,, CH, CH,OH, CHCI,, CH,COOH

()D)@_VCHCIB, CH,CH,OH, CH,COOH
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73. 15 UM H, ¥ qufa: fwan #x 73. What is the mass of the oxygen required

T 'E@ RS & ATEYIS S9q M to react completely with 15g of H, gas to
% form water-

(A) 140UM : (A) 140g. Qe ;

B) 115U (8) 115g. rkﬂq’:h

(© 107.57M (€) 107.5g. L

(D) 1207 yy 120g.

74. R &1 TS TP 85 Wiow S ®, 39 74. Percentage purity of a sample of gold is

TR & 1 7§ Sufterd 99 & weEms 85%. How many atoms of gold are present

FI &A1 Brl (I 1 9] TEHE = ~in 1 g sample (Atomic mass of Gold =

197u)- 197u)-

(A) 2.6 x 10* (A) 2.6 x 10" AL

_ | oo
(B) 2.6 x 10” Jﬂi/ 2.6 x 10 ool 3
' W

(€ 3.0 x 10" (€) 3.0 x 10" 385
555, ¥

(D) 4.5 x 10° (D) 4.5 x 10” 2RE

L e
e, e
75. US TH LS R, S Sedl & 75. Tendon is a structure which connects-

(A) T e el AR | (A) One bone toanother bone

(B) U¥ft = AR™ LLB')/ Muscle to bone

(€ a1 st & (C) Neuronto Muscle

(D) i =l Uet (D) Muscle to muscle
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76.

77

78.

et fermeie -

(A)  Hieme"

(B) Pﬁﬂﬂ?ﬁﬁ@

(C)  ErHIEeHEH

(D) - UHEHZH

3fey Sas +I FHeral = | 9 foraa

FTEHSH T HTEEE & HRU Bt
o

(A) “hfcerm 3R Hifeaw

(B) fceram v Hr=iferam

() Friferm iR Gifeaw

(D) T IR urRefyEm

WG & TS U&ft 1 5= S |
&
(A)  Tadegen g
(B) U Eififeswd
(€ Yo freeewm
(D) wHE TR
29

76. Platyhelminthes are-

(A) Coelomates

Mseudocoelomates

(C) Homocoelomates

(D) Acoelomates

77. Bonetissue becomes hard due to presence
of phosphate and carbonates of the

following-

{/IA(Calcium and Sodium

(B) Calcium and Magnesium
(C) Magnesium and Sodium

(D) Magnesium and Potassium

78. What is Zoological name of National Bird

of India-
farne
¥(A) Psittacula Eupatria

figee
X(B) Passer Domesticus

V(a/ Pavo Cristatus Fee-ee”

7(D) Corvus Splendens o parres
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79.

80.

81.

siter fagm & fr=1 & | forg- ' wifore
Sl HqE1' R S &

(A) ELAR.

B8) g1l

(© T

0) & A

fr= & @ 99 W IRy BHA URY 9fE
%1 Uehdll &~

(A)  fsafas s

(B) TEhIfeich o7

(C) uHH

(D) SRR

HIAe IeaSi o HI THE o-
(A) AW

(B) Awifedl

(€ =M

(0) A A

79. Which of the following is known as the

'energy currency of cells' in Biology-

(A) DTP
(8) PDP
e) ATP

(D) DDT

80. Which of the following plant hormone

inhibits plant growth-

(A) Abscisic acid
L_,{B]/ ’Ascorbic acid

(C) Ethene

(D) Cytokinins

81. Excretory unit of the human excretory

system is-
(A) Nephron
(B) Nephridia

(C) Neuron

JDj/ Ufeter
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82.

83.

WY | 9 WY || 1 fae sifse qen

et fasweq &1 99 wifse-
W | Wy |
1) ford 5 ymfal (a) & @ S
1) sgem afefal (b)) S @
ECIRED
Il) STe & HIVHE () IEUl § 5
- BItCES
IV) @eed (d) IS H @A
wftasd
(1 (1) (1) (V)
(A) a b g
(B) d c b E
(C) b "1 d a
(D) d c a b

fr= o # mifera A, B 3R C wm
FHHI: E -

(A) SIS WA, Wis & HeliEy
(B) iKY, SIS & YAkl
(C) Wi, el & ST
(D) HeIHL, WAL q SAT9TH

82. Match coloumn | with Cloumn Il and

choose the correct option-
Column| Column I

I) Arteriesand x(a) Clotting of blood

veins
ll) Xylem Vesse ) Carrier of Oxygen
I} RBC ) Water Transport
in Plants
IV) Platelets ) Blood transport
in humans.
(1 () () (V)
(A) a b c d
A . |
(C) b C d a
o (D) d c a b

83. Inthe given figure parts marked A, B and

Csubsequently are-
A

&

(A) Cotyledon, Plumule and radicle

yd
« (B Plumule, cotyledon and Radicle

(C) Plumule, Radicle and Cotyledon

31

(D) Radicle, Plumule and Cotyledon
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84.  wIfeTeRT T a1 YY) WYATHA B &
(A) Tt ot Werel Siiferent g
(B) & 3T=: WEeAl Sferhl G
(€)
(D)

TSt 3SYehL0l I

[SEE N

85. TURY IR frAfArEd % HRI HH
STl &

(A) e ged GegEd (wIHIerEE)

(B) TTRI TUER (werteEntas)
(C)  I=: U (qcran?rﬁm)
(p) faea rqRA (TeRRIfAread)

86. fira @ = frmfor € ®-

(A) T
(B) %A

(C) TN
(D) N

32

84. Lipid molecule in the cell are synthesized
by-

JM/Smooth endoplasmic Reticulum
(B) Rough endoplasmic Reticulum
(C) Golgi Apparatus

(D) Plastid

85. The plant cells become turgid due

to-
JM/PIasmolysis

(B) Exosmosis

(C) Endosmosis

(D) Electrolysis

86. Bile Juice is produced by-
(A) Gallbladder

‘}&/Liver

(C) Pancreas

(D) Stomach
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87.

88.

89.

fordt wifas ® S Wware 1 Wel "l

el B-
(A) SUTEH -+ MHTERI->HITTRRI -
AT

(B) ScTEeh—HTHTRRI - SaHTERI -+

HIHZh

(C) YMHTRRI—+HIETRRI - SR dH—
HAYEHIH

(D) TMHTERI—SIE o - HIHTERI -
TR

Fif= 9 (MA) YR (L) T91 A=H

(E) Twafed §-
(A) MA=LxE
(B) MAxE=L

(€ MAxL=E

(D) TTH Y HE T

T T AT @ T A
wo T g -

(A) EESEE

(B) & Sl &

(C) o afae &

(D) SUEd H ¥ HIE T

87. The right path of energy flow in a eco

system is-

Producer =*Herbivorous—

carnivorous =decomposer

(B) Producer—carnivorous—

herbivorous—+decomposer

(C) Herbivorous—carnivorous-

producer-decomposer

(D) Herbivorous—*producer—

CBI’ﬂiVOI’OUS"dECOﬂ'\pOSEF

88. Mechanical advantage (MA) Load (L) and

effort (E) are related as-
L/LA)/MA =LxE

(B) MAxE=L

(C) MAxL=E

(D) None of these:

89. When light enters from air to glass its

wave length-
,dﬁ}/[}ecreases

(B) Increases

(C) Remainsthe same

(D) None of these
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90. femeit g wraTel Wi el wafer
% i g 8-
(A) ¥ R

(B) T A & AR SM W HeEd
gl

& fR #Y 3R 91 W g
%l

ot fargell | B

(€

(D)

frefafea § #9 ad 2-
Mitem > e > Aea
it > Mg > Mten
M > M > Mgu
M > Mter > Mt

1.
(A)
(8)
()

(D)

T Tl <99 991 Teh Med &d g1
IO AT +0.8 B-

YU 99T S SHI 39 ¢ |
T4 9o o Sl 379ad © |

ThU 31ede, § Ak o9 I
I

T4 39 § AT &9 aad
Tl

92.

(A)
(B)
(€

(D)

90. The magnetic field inside a long straight

current carrying solenoid-
(A)
(B)

is zero

decreases as we move towards its

end

(C) Increases as we move towards its

end

JD]/ is same at all points.

91. Which of the following is correct-

Y(A) *blue> *yellow > *green

X
F—T
Mellow >*green> *blue -
(©) *vellow >*blue >*green (;"'
(o)
(D) *green>*blue>’vellow R

* 92. The magnification produced by a spherical

mirror and a spherical lens is +0.8 -

(A) The mirror and lens both are convex.

(B) The mirror and lens both are

concave.

(C) The mirroris concave but the lens is

convex

V(Df The mirror is convex but the lens is

concave.
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93.

94.

31 fargga wew A 7 B S Sigwa
FYT: 100 W, 120 Va1 10 W, 120V €,
120 V& dgga 99 & Wy SviH |

AIfAd € 9 FIF W Ao Sl i @qaq
iy HaT-

(A) A

B) B

(C) I §HHE

(D) TS FEl TEI o Hehell € |

m[ﬂ=g] § fer T fod B

3% T Y @A W fgEH 2.0 fm
9L 331 g Weia Bl ¢ | T =l S|
H RS BT~

(A) 8.00 mm
(B) 6.00 mm
(C) 8.00cm
(D) 6.00cm

93. Two bulbs A and B are rated 100 W,
120V and 10 W, 120V respectively. They
are connected across a 120 V source in
series. Which bulb will consume more
power-

V(A( "
(B) B

(C) bothequally

(D) Nothing can be said

4

94. A coin kept inside water (ﬂ ~ —J when

3
- viewed from air in a vertical direction,
appears to be rasised by 2.0 mm. The

depth of the coin in water is-

AA‘I/S.OO mm fu;"’d{
(B) 6.00 mm
y?
(€) 8.00cm T
(D) 6.00 cm ,:
e
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95.

96.

frfafad § 9 99 H97 D2 Thl

fosea gfu-

i ogE uiuy # eter fviwH d
doT AieeHizt FHRR HH § T2
BB

i, U 3Tt w1 Wiy =9 AT ¢

jii. U dleeHIt H WAy T gl
Tl

(A) i, ii a9l iii

(B) i@l

(€ i aqA iii

(D) hRad i

3 g wfady S wHe: S % uE

TR %Y | GAIfea €, F V-1 T o
T gl T § | I T UATH FHR % H

T TS 1 eiia wa e
VA B

A

> |

(A) A
(8) B
(€) A 9= BEHI
(D) S9ed H q HIE T

95. Select the correct statement in the

following and choose the correct option-

i) An Ammeteris connected in seriesina
circuit and a Voltmeter is connected in

parallel.
ii) An Ammeter has a high resistance.

iii) A Voltmeter has a low resistance.

(A) i, iiandiii
(B) iandii
(C) iiandiii

Mly i

96. V-1 graph for parallel and series
combinations for two identical resistors
are as shown in figure.Which graph

represents parallel combination-

VA 8

(A) A
o s
(C) AandB both

(D) None of the above
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97.

ek el WSl IR e e | S @ 20
ITH EoF 1 o1 71§ 1 aT-999 W o
F foan e ¥ 1 g i fommewen § @
% fou 31 gr & 5 §-

98.

g (FEvE )

(A)  —4x10" N

(B) 8x10° N

(€  =2x10'N

(D) 6xI10°N

600 N I & AT &1 fohaar oot qre

aifeu fof Ige! Tfast Sei 750 J &
(g=10m/s* )-

(A) 5 HIeX / F&TS
(B) 7 WX / F@ve
(© 10 WY HHhUS
(D) 7.5 HeX / F&hUS

37

97. The velocity time graph of a ball of mass
20 g moving along a straight lineon along
table is given in figure.The force exerted

by the table on the ball to bring it to rest

Velocity (Cm/s)

QM/ —4x10* N =<

e
B) 8x10° N g -
© —2x10'N Ty
.
()  6x10° N - ¢

98. 'How fast should aman weighing 600N run
to achieve a kinetic energy of 750 J

(g =10 m/s?)-

\)m/ s RE=ry

(B) 7 m/s T{,;‘W"}”
LY
(C) 10 m/s .
(W= 2
D) "75migan e Te
&\ §
ol
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99.

100.

= | 4 =9 @ are ol & &t
nfgs et () , feafas =it (v) 9
T WSS (h) &1 HEl g yefyia
FIAl -

() F
EL
”m.,a.[g »
E
® F
U\..
e >
el U
R
© %
m »
E
2
(o) e
gty

U AR B G0 HH 20 'S H
20 fovel gt &1 9 < gfadl & fag
o e @ ff i 2
€ (91 H WA &t =1 = 344 Hi/Fo) -
(A) 172 m, 1.72 mm
(B) 172 m, 17.2 mm
(C) 17.2 m, 1.72 mm

(D) mﬁﬁaﬂéqﬁ

99. Which of the following graphs shows
correct relation of kinetic energy (E)
potential Energy (U) and height (h) from

the ground of a particle-

A
g
(A) £
E'L
Height é
A E
)
(B) &
u\_
Height s
- U
an
i
N
»
Height
E
=
(D) &
U
h.
=
Height

100. A person has a hearing range from
20 Hz to 20 KHz. The typical wavelengths
of sound waves in air corresponding to
these two frequencies are (speed of
sound in air = 344 m/s)-

(A) 1.72m, 1.72 mm
(B) 17.2m, 17.2 mm
(C) 17.2m, 1.72mm

oAB) " None of these
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| el eATH & T useh / SPACE FOR ROUGH WORK |
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| #-x
i
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